Qdestion

Answer

Mark
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Additional guidance

9

Shown

P1

P1

C1

for a start to process of finding the total cost,

eg 5 x 26 (= 130) or 4 x 45 (= 180) or 8 x 23.50 (= 188)

or 26 + 45 + 23.50 (= 94.5(0))

or

for a start to process of finding money left after paying costs,

eg 500 — 26 (= 474) or 500 — 45 (= 455) or 500 — 23.50 (= 476.5(0))
or 500 — 5 x 26 (= 370)

or 500 — 4 x 45 (= 320)

or 500 — 8 x 23.50 (= 312)

for complete process,

eg “130” + “180” + “188” (= 498)
or

500 — “130” — “180” — “188” (= 2)

Shown with a complete process and correct figures.






